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QUESTION 1

The ICMP monitor has been assigned to all nodes. In addition, all pools have been assigned custom monitors. If a pool
is marked available (green) which situation is sufficient to cause this? 

A. All of the pool member nodes are responding to the ICMP monitor as expected. 

B. Less than 50% of the pool member nodes responded to the ICMP echo request. 

C. All of the members of the pool have had their content updated recently and their responses no longer match the
monitor receive rule. 

D. Over 25% of the pool members have had their content updated and it no longer matches the receive rule of the
custom monitor. The other respond as expected. 

Correct Answer: D 

 

QUESTION 2

Assume a virtual server is configured with a ClientSSL profile. What would the result be if the virtual server\\'s
destination port were not 443? 

A. SSL termination could not be performed if the virtual server\\'s port was not port 443. 

B. Virtual servers with a ClientSSL profile are always configured with a destination port of 443. 

C. As long as client traffic was directed to the alternate port, the virtual server would work as intended. 

D. Since the virtual server is associated with a ClientSSL profile, it will always process traffic sent to port 

443. 

Correct Answer: C 

 

QUESTION 3

Generally speaking, should the monitor templates be used as production monitors or should they be customized prior to
use? 

A. Most templates, such as http and tcp, are as effective as customized monitors. 

B. Monitor template customization is only a matter of preference, not an issue of effectiveness or performance. 

C. Most templates, such as https, should have the receive rule customized to make the monitor more robust. 

D. While some templates, such as ftp, must be customized, those that can be used without modification are not
improved by specific changes. 

Correct Answer: C 
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QUESTION 4

Which two can be a part of a virtual server\\'s definition? (Choose two.) 

A. rule(s) 

B. pool(s) 

C. monitor(s) 

D. node address(es) 

E. load-balancing method(s) 

Correct Answer: AB 

 

QUESTION 5

A standard virtual server is defined with a pool and a SNAT using automap. All other settings for the virtual server are at
defaults. When client traffic is processed by the BIG-IP, what will occur to the IP addresses? 

A. Traffic initiated by the pool members will have the source address translated to a self-IP address but the destination
address will not be changed. 

B. Traffic initiated to the virtual server will have the destination address translated to a pool member\\'s address and the
source address translated to a self-IP address. 

C. Traffic initiated by selected clients, based on their IP address, will have the source address translated to a self-IP
address but the destination will only be translated if the traffic is destined to the virtual server. 

D. Traffic initiated to the virtual server will have the destination address translated to a pool member\\'s address and the
source address translated to a self-IP address. Traffic arriving destined to other destinations will have the source
translated to a self-IP address only. 

Correct Answer: B 
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